Problems

Az: Exponential Word




Compound Interest

| For interest compounded n times per year:
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1. (Round to the nearest hundredth) Find the total value of
a 85,000 investment it is invested for 5 years at 7.2%
interest compounded...
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1. (Round to the nearest hundredth) Find the total value of
a $5,000 investment it is invested for 5 years at 7.2%
interest compounded...
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1. (Round to the nearest hundredth) Find the total value of
a 5,000 investment it is invested for 5 years at 7.2%
interest compounded...
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2. (Round to the nearest hundredth) How long will it take
for a 85,000 investment to be worth 12,000 if you invest at
8% compounded...
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2. {(Round to the nearest hundredth) How long will it take
for a s5,000 investment to be worth g12,000 if you invest at |
8% compounded...
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